EAGRAROBREERT — 2 N— ABISH —F 202058H290 (+) 7EIEHA1H

m C314 H7%—#f% ‘ (X ‘ (3E0509]  — | & () 13000 &
[AE4£] 1% :160,000 @ ~ 23#&:56,000 "  33%&:32,000H . 437&:24,000MH . 573&:16,000 4
BB BB Mk ME BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
. . L= [ELEE) :25. —3-3- . - IiEET (B
i NPy # 5 s 1(2_5)8 3-3-3-2 | 39.6 1 (4853) = Rl
L:7L>FFE2T71 BiIL—TRTFI BEWS
5 o S BRERE :26. ~4-4- . — gz (FH)
ANRCE N o4 ol 1(216)0 4-4-4-2 | 39.3 3 (4_352) L
L:d1y NUAR—A BRXHILIZR 5952 Riis
N . R 1ERHH : -1-1- — #lEE (BH)
3l5|5| 2NN #o | ERH e S B R 25 | mmon
R:Va-h7F—/ B:VURE-FZ BORM S
5 3 | BIFFEX 1:27.6 2-2-2-4 | 41.6| — 5 417 | NIHBH (SH)
4lglo|v—b¥TEY " $54.0 ®) (1) | TREIEERES
R:T—7 74— B:VOXFLAFIL INTp—L
— N 4 5 | KiERZER 1:28.1 6-7-7-7 |40.9| — 4 460 | BEMEEH (FH)
5 6 TAT7RTA 54.0 (2 1/2) (-2) 12 -
LNn—=v9314 B:HFT7 HBET7— L
S = . RN :28. ~6-5-! . = BEX#H (BH)
6 o|¥3257 L= 4 4 56»3 1(12/82)2 7-6-5-5 | 41.2 7 (5_011) E%E%
LI INATA—H— B:>3377z)—-X BT 7 —L4
- . SHESM . 56— — TR (&)
7lglg|O—LT -4 *5 | Z5% [ AR R : ;ﬁ% TEEHA
R:TF79v 784K BANINTF1—> N B4
. TR .09, -0 . — #lEE (FH)
3 4| b—E>FzOx— B4 X80 1(249)1 5999 408 ’ ff;; FEMSB
RL:b—t>AL>X B:h—t>OE> BHRSHE IXTF177—L4
o = N 22V :FN 1:29.2 -8-8- 41, - BEX#H (SH)
9717 EXT7Z)—-%> "3 i‘\?55‘.(0 (1/92) ees ° ? (5_373) E%ﬁ* -
R:Tr/ =X/ BYTRULNyE— A tE
@ I—F—@EBIERL
|3=7r= 5,9,3,1,8,6,2,7,4
2ol=5"= 5,9,3,1,8,2,6,7,4
== 5,9,3,1,2,8,6,7,4
41—F— 5,(1,3),9,2,8,6,7,4
[ N
B 3 180M 794K 1-3 160 & 1-3 1,350 &R 1-3-5 180F
# B 3 100 3-5 110M B E 1-3 930 EE == 1,970
1 110 1-5 130H B H 3-1 1,300
5 1009

ABTICOVWTRHDBTERERRODDE, JTHERLE,



